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a: Ty 2oy

A =8B (3) - HRAY - BES il HlnE2
307 glz2tol & 80,000 0 80,000
06 283 80,000 0 80,000
OFQletdEd 80,000,000& 80,000
& S3ANEE WAESEDIt 11,864 0 11,864
401 Al Bl 28I 11,864 0 11,864
01 A& HI 11,864 0 11,864
OJI&E BZ2ANE28 WEESHIHWHSEnS
M &k THEX) 11,864,000 11,864
Mol & X otd™ 2e| 16,800 19,438 N2,638
AlHI 2,500
T4l 14,300
o2& It 5,000 5,000 0
AlHI 2,500
T Hl 2,500
307 glz2tol & 5,000 5,000 0
AlHI 2,500
-4l 2,500
06 283 5,000 5,000 0
OZ=dl2&8 it 5,000,000& 5,000
AlHl 2,500
I 2,500
HHE AMEE A2 2,000 4,038 22,038
201 L2l 2,000 4,038 N2,038
02 =224l 2,000 4,038 22,038
OHHE ANES A2 2,000,000& 2,000
THEEARS &S 9,800 10,400 A 600
301 LPEAF 9,800 10,400 A 600
12JIE243 9,800 10,400 A 600
OMt2e QM ZI D=k B4
280,000& 35 9,800
oregrel 2o st 175,528 186,742 A11,214
= 12,522
Al HI 31,452
2 HI 131,554
9 =29 16,850 16,850 0
= 5,055
Al HI 5,897
-l 5,898
201 et 8,100 8,100 0
= 2,430
Al HI 2,835
- Hl 2,835
01 At 22l 8,100 8,100 0
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZAM==E 8,100,000& 8,100
2 2,430
Al 2,835
Tl 2,835
301 LA F 8,750 8,750 0
= 2,625
Al 3,062
I 3,063
12 JIEtE 43 8,750 8,750 0
OgdzZus A& & el 4
8,750,000& 8,750
= 2,625
Al 3,062
I 3,063
=2&E0 UYL =S| 2,497 2,497 0
= 1,167
AlHI 665
I 665
201 Let24E] 2,497 2,497 0
= 1,167
Al HI 665
1 Hl 665
01 AL 22l 2,497 2,497 0
O=g&aH &Y =& 1,900,000 1,900
= 570
AlHI 665
T Hl 665
ORlazesolye Se=dAA 597,000& 597
= 597
Qe ZAsg X2 13,500 13,500 0
AlHI 6,750
I 6,750
201 Let24E] 13,500 13,500 0
AlHI 6,750
L Hl 6,750
01 At 22l 13,500 13,500 0
Ooee ZA=¢ 13,500, 000& 13,500
AlHI 6,750
T Hl 6,750
Qe Haag=Ald 22l 18,880 22,100 A 3,220
Al 9,440
Tl 9,440
401 AlEHIZ 2 0HYI 18,880 22,100 £3,220
Al 9,440
-l 9,440
01 A& Hl 18,880 22,100 A 3,220
OHlag=A4d =ZHd 9,280,000 9,280
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BB - S (31) - MRAY - BES Ol &t o e
Al'H] 4,640
L Hl 4,640
Otlads=+ 9,600,000& 9,600
AlHI 4,800
I 4,800
2 FHFY 2,000 2,000
AlHI 1,000
I 1,000
405 TtabF S| 2,000 2,000
AlHI 1,000
L Hl 1,000
01 et EFH 2,000 2,000
oggre & &l 2,000,000& 2,000
AlHI 1,000
T Hl 1,000
YRAN sty 21,000 27,300
= 6,300
Al 7,350
- Hl 7,350
405 XtAHE SHI 21,000 27,300
= 6,300
Al 7,350
- Hl 7,350
01 ML =EF 21,000 27,300
Oorer2 =0 B
21,000,000& 21,000
= 6,300
AlHI 7,350
T Hl 7,350
Qe Issd 57,914 59,145
201 Let24dH] 20,039 26,137
01 At 22/l 20,039 26,137
ooge nEs 2,240
Al 100,000& »2H 2 +23| 800
[SRE AN 80,0003 *3H 240
e =k
20 *20,0000H 400
HaLEE YLETN RE
403 +20,0000H 800
OUSSNSE 2 495
R 4,500& 25«50 *90% 405
014 25,0003 x4+ A x90% 90
Oogegrelw 8,000& x4 402! «90% 1,162
osg el 29
70,000 *4J1 x90% 252
O=Fgan 5,000& *2007H *90% 900
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Sl MEOISS B (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OAoIHBIEH? s &9 1,200 %12,500H 15,000
203 ¥ R =&t 1,000 1,000 0
03 Al ZH =X R = XIH| 1,000 1,000 0
Oolgre 24X 1,000, 000& 1,000
301 dEtE ™M= 36,875 32,008 4,867
B AISI=SRILZ A= 36,875 32,008 4,867
OolgtNs 4REX 17,523
== 540,900& x2H x12& 12,982
= Al| 6,000 x2H *x22 x 128 3,168
S| 2,600 x2H x222 x12& 1,373
OSE&HMAH 29 22X 8,762
- 83 540,900& x1H = 12& 6,491
- SAH| 6,000 x1H*x222 x12& 1,584
ME=:| 2,600 x1H*x222 x12& 687
OMI=SRE 1= 300,000& »30H 9,000
OMIELRE Z2AXE L HalBA(E=22
) 1,590
== 15,000 x106H 1,590
HAMH A& 21,033 21,033 0
201 Yer2 2t 21,033 21,033 0
01 AtR 22l bl 21,033 21,033 0
O2X H=2 dASAHEM A
30, 000& *305 *90% 810
OHIAUHI X & H& 25,0003 *325 *90% 720
OClEAsSIAHEMN M 45,000& #2622 *90% 1,053
O2X H=2 d&sd 29 18,000
=22 ME 100,000& *4& 400
-AMNEES 100, 000& *2& 200
- HEH (A, Z2EH)RX
150, 000 & ~2LH 300
SXNASE A AXL 36,0003 *25H 900
22X EBi=2 AE522A =4
8,000 x100H » (3L #4A1+12 %24l ) 11,200
2K B2 HES2 R A 24 2,000,000 2,000
ogAEY = 3,000,000& 3,000
O2X =2 o5 AMEdE AAl 450
EE=2 H& 100, 000& *2& *90% 180
SPHEF (MY, 2X) L 300,000& *90% 270
Qe AAIE - FHHl 22l 19,541 20,004 AN 463
Al H] 350
Tl 19,191
201 Bt A | 11,541 12,004 AN 463
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al'H] 350
L Hl 11,191
01 At 22l 2,325 2,788 A 463
O=ZZAE UH=EDI 525
o 700& 2004 140
3 7,700 =504 385
OYg=gIZsE Hol==2 600,000& 600
OMIIAIE oL E X B 700,000& 700
Al 350
Tl 350
Os=Al4 CHUHEXIE M2 50,0003 *100H & 500
02 =224l 9,216 9,216 0
OHlad=S=A4d MIlg 48,0002 1604 2122 9,216
401 AIEHI L 2 CHYI 8,000 8,000 0
01 A& HI 8,000 8,000 0
Otl&ds & HagdI) K2
8,000,000& 8,000
MIZ2R2RF 2l 1,350 1,350 0
203 YR =&t 1,350 1,350 0
03 A F=XH S =AY 1,350 1,350 0
OAMA=SERE A HEFH 1,350,000 1,350
DIkt I E# A 2 HI 963 963 0
201 et 963 963 0
01 At 22l 963 963 0
o=t &4 JIg&A 963
- eHLHE HIE 80,000 »4H x90% 288
HE HA 1,500& *4000H *90% 540
CEUE A 1,500& 10001 x90% 135
OFM S T AIDIBHAIE X & 2,885,973 2,758,534 127,439
JIEAES 2el 2,324,248 2,207,548 116,700
Fus2J| 2l 36,098 34,008 2,000
201 Yt | 36,098 34,008 2,000
02 =224l 36,098 34,008 2,000
O=1sZJ A4EH 2=l 7,000,000& 7,000
OS=Cx0Y S5 X2 8,643
otdztel =2  500,000&1.1«12& 6,600
fSPli= 1,785
-2z 6,160 «10Kwx 1. 1x12& 814
A== 105 *350Kw* 1. 1x 128 2 H 971
- SN 258
=== 5,500&*1.1x12& 73
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-AMER 14,0003 *1. 1x12& 185
OUl=wngd S1sZI| |22 8,643
otdzte| tHel==>2 500,000 *1.1x128 6,600
Hdol= 1,785
-2z 6, 1603 x10Kwx 1. 1x12& 814
-AEE 1053 *350Kw 1. 1= 122 2[4 971
stz 258
A== 5,500&1.1x12& 73
-AEZE 14,000& =1. 1+ 128 185
Os=& URsns2dl |2l 11,812
otdzte| a2  500,000&=*1.1x1228 6,600
&Mol= 4,954
-JlEgs 6, 1603 «20Kw 1. 1x 122 1,627
-AEE 1053 *1,200Kwx 1. 1+ 128 »2CH 3,327
stz 258
-2z 5,500&*1.1x12& 73
-AIEE 14,000& 1. 1128 185
208 2t 586,785 566,542 20,243
201 LEr2 Y| 306,354 286,111 20,243
02 2324l 306,354 286,111 20,243
OLets B8 JFUHE ME
35,000& 10 =122 420
OESS HIMNER 305,934
IS (LHESE, HE)
4,650 «12&8+5,2705 294,066
- &I = (LED) 2,300 x12& 430 11,868
206 M= Hl 75,779 75,779 0
01 =8l 75,779 75,779 0
OEgs Bz 2 75,779
-UHESEE
10,4502 *4,900S * (3652 *12A1 2t) /16,000 Al 12,616
2+x90%
-UHEEHEEZ oHFD|
(15,400 *4,900S *10%) *90% 6,792
-HEEE
35,2003 x270S * (3652 *12A1 2F) /12,000 Al 2 3,469
CHIE3ZOAI] (31,9009 #2705 *10%) *90% 776
- LEDS I 2
450,000 *330S * (3652 *12A1 2+) /50,000 Al 11,708
2+%90%
s BED 40,1003 *5,500& * 15%*90% 29,775
Bots I+ 30,000& *5,500S *3%*90% 4,455
28 A 2,000& #5,500S *5M*5%*90% 2,475
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SRS
Mz OtAMEE S AID|IBHAIE =4
e JIMAIESE 22 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
=228 15,000& x5,500S *5%*90% 3,713
401 Al HI L £ 0HHI 204,652 204,652 0
01 A& HI 204,652 204,652 0
OZtU EBotE %2l 3AH 131,452
Hots £l 58,4233 2, 25000 A 131,452
OZtU Bots A BAF 73,200
Borts M4 732,000& 1005 73,200
s 22l 1,296,966 1,267,105 29,861
201 Bt A | 881,997 880,227 1,770
01 At 22l bl 1,056 1,056 0
OE2 XY Ot2E X =]
8,000&x11H x12& 1,056
02 3524l 880,941 879,171 1,770
OJtzs &z 825,941
Jlgs
6,290 *410% x5kwx 122 *1.037%1.1x0.9 158,855
CMNEZ(HE,UES)
85.99 % (0.44kw*500S+0. 28kw*4,793S ) 12 602,986
365%1.14%0.9
A2 2 (LED)
85.9& *0. 15kw*1, 1075 *12A] 2t *365 * 1. 14* 64,100
0.9
OJtgs R24HHN Stz 21,450
KT 2AHSd = 115,500& ~12& 1,386
-CJEZEHY SAE 20,064
-2z 5,000 *160CH* 128 *1 .1 10,560
-AEZ 30 x1600H 122 15024 1.1 9,504
OO0t 2 xH KIAE% 26,550
GSASRS ABEZY 2
1,770,000& *10H & 1,770
LEYALBY Y2 SDEY el
1,770,000& *10H & 1,770
-HEIHE 89 329 22|
1,770,000& *1JH & 1,770
-HEHYE & 80 H23XYH 2
1,770,000& * 104 & 1,770
iz s 32x2H 2|
1,770,000& * 104 & 1,770
=g suw &9 2|
1,770,000& * 104 & 1,770
CIOH1S OI0IA M 322y 22|
1,770,000& * 104 & 1,770
25tz & FuUAY 2|
1,770,000& * 104 & 1,770
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E=CES ¢ URSN =Y =2
1,770,000 =10 2 1,770
CIOHE QIO ME S22 298 2
1,770,000 =10 & 1,770
E20 MgE FaxY 22
1,770,000 =10 & 1,770
THE Y FIBZY 4ol
1,770,000 =10 2 1,770
COHEEHSLIEIE 222Y =2
1,770,000 =10 2 1,770
DYIWOE 9% FBEY
1,770,000 =10 2 1,770
UEFS MHXN ¢ B2XY
1,770,000 =10 2 1,770
OUUHZEMBSA MIZTHAE RAE> 7,000
S8s B+ 400, 0003 124 2= 4,800
- MEHED| WX 200,000 * 110 & 2,200
206 M= Hl 164,869 136,778 28,091
01 = Hl 164,869 136,778 28,091
oitzs E=XH 164,869
LHESEZ
11,1002 %4 ,8495 * (12A1 2+ *3652 ) /16,000 Al 14,735
2t
CHE¥E(DESE)
64,0002 1,000 *(12A1 2k%3652 ) /12,000 Al 23,360
2t
- LEDS I| 7 (SWPS I &)
800,000& *1, 1075 *(12A1 2t%3652! ) /50,000 77,579
Al 2F
LHESEZ otFI| 19,830& *4,8495 x10% 9,616
CHEYD AFI(DEE)
47,0003 *448S *10% 2,106
H2s I+ 71,5009 *(4,849+448) S *3% 11,363
- E3ED 407,000 *41024 x10% 16,687
-E8 dd 550& 183, 000m*5% 5,033
- OFEDl HH 11,000& *5,8002 *5% 3,190
- AEE 40,000,000 *3% 1,200
401 Al HI L2 THHI 250,100 250, 100 0
01 A& HI 250,100 250,100 0
Otzs =872 M= 170,100
2 22 2 A 1,200,000& »113& 2+ 135,600
CEAIED ZX 40,000& 6004 24,000
-2 ) 2 MAX 105,000 * 10004 & 10,500
O%= FRP JIZ2& WA 50,000,000& 50,000
OL=tHde M & E=
3,000,000 *100H & 30,000
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“EA HIIEHl 2el 404,399 339,803 64,596
201 £et23E | 382,399 339,803 42,596
02 329l 382,399 339,803 42,596
OFREAMN B32= 322,789
SEA &= 247,520
-JlEz 8,320 & »850Kwx12& 1.1 93,351
-AEE 109& 107, 151Kwh* 128 » 1.1 154,169
S Mg - 2BAMRA IR 34,126
=g 6, 1603 »164Kw=12& »1.1 13,336
-AER 105& %15,000Kwh* 122 % 1.1 20,790
SHzgER Iz 11,976
-JlZ= 6, 1603 *45Kwx 128 = 1.1 3,660
-ANEZ 105& x6, 000Kwh*12& *1.1 8,316
-SAEHL )2 12,428
-JlEs 6, 1603 »25Kwx 128 *1.1 2,033
-AER 1053 »7,500Kwh* 122 *1.1 10,395
CREA Y Qs MIGH2ACIHE 2
1,293,600 x 12 15,524
- AEAD JOIEH OIEA =8
1,215,000 «&A 12 1,215
OFEA HIIEH |FANE+ 57,000
- XHTH =2 0R HI 750,000& » 2143 3,000
- s A2l 18,000,000& 433! 54,000
OFEA HIA4EZEI R 2,610
Higa o Al =2 SHX WA
270,0003 *4JH »20H 2 2,160
HE2HI(ZR)
1,248 +602| &1 %0.5A1 2t+ 123 450
401 Al HI L 2 THYI 22,000 0 22,000
01 Al&HI 22,000 0 22,000
OTFEA EDY AHols wA
22,000,0003 » 174 £ 22,000
=8 =& 22 561,725 550,986 10,739
B+-8Zd 29 561,725 550,986 10,739
101 @124 H] 23,929 23,590 339
04 DIt 22 XS+ 23,929 23,590 339
Octetii=EZE 223 23,929,000 23,929
201 et2 Y| 531,796 521,396 10,400
01 AtR 22|l 2,980 2,980 0
O824 € JIZ2SESE U=
160,000& »15%H 2,400
Oti=8dgXd F2AME 30,000 6 180
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AN S

M OLMSH T AIDIBHAIAE X4
Sl HAEDT 2 (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
s 8,320 *390KWx12& 1.1 42,832
NE=3= 109& x34,638kWh* 122 1. 1 49,838
e A M) 29,640
-HERSE S0 19,444
s 8,320 x400kWx52! x1 . 1 18,304
ANES 109& *1,900kWh*5& %1 .1 1,140
- MAIRSHE MY 10,196
2s 5,550 x68KkW 122 1. 1 4,982
NE=3= 793 x5, 000kWh* 122 1. 1 5,214
ot E T A MI|=2 38,432
-HERSIE S0Y 18,387
zs 8,320 *390kWx52! x1 . 1 17,847
ANES 109& *900KWh*52 1. 1 540
- MAIESHE MY 15,410
Es 5,550 x68KkW 122 %1, 1 4,982
INE=3= 79& *10,000kWh* 128 *1 . 1 10,428
-NotEE &Il&E 4,635
sz 5,550 xBKWx 128 =1 1%2H 2 880
ANES 79& *x1,800kWh*12& 1. 1%20H A& 3,755
- OIH2B DA XMIIR= 108,625
-Jlga
(8,320 x320kw+7 2 +8, 320%3, 000kW*60%*5 102,869
2)*1.1
-AEZE 109& x4 ,000kw* 122 1.1 5,756
ol HEEDT MNI|IRSB 421
= 6, 1603 *bkw* 120 & x1 .1 407
-AIEE 1053 *10kwx 12 & *1. 1 14
=8 & - o=z
33,000& 3 A +12& 1,188
BB IE SAZ
40,0003 *3M A x12& x1 .1 1,584
BB ITE SFHJHILE S
60, 000& *3H A= x23] 360
206 T 2 b 6,000 6,000 0
01 X2 bl 6,000 6,000 0
Oti=8HZX 2IES 6,000,000 6,000
oM &t T Al 22| 501,445 468,241 33,204
CCTV SE2NUH 29 501,445 468,241 33,204
CCTV S&2NMEH 29 501,445 468,241 33,204
101 @121l 294,492 268,773 25,719
04 JI2ZtH22XNEE =+ 294,492 268,773 25,719
OZHHE 2UIHRSH o8 294,492




SA: HHETD
HH: OFE T AR
il

©9l: CCTV SERRUE 29 (29l 8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
-2UEHRE I8 78,030 x9H %250 175,568
- ZLEHE Or2tS 4,877 x9H *768Al 2t 33,710
- RLEHE 2HAH] 3,000& x9H 250 6,750
S =y 78,0303 9 52 36,519
S X 78,030 *x9H x 12 8,428
SXEOE 300,000 x99 2,700
- YHE A2 300,000& x9H 2,700
- 20AZEEHEHZ 266,375,000& *4 . 5% 11,987
- 20HAEEEH 2 266,375,000& *3.23% 8,604
1ELEREHZ 266,375,000& *1.5% 3,996
ATHEERE S 266,375,000& *1.05% 2,797
CoIE)I A= 8,604,000& *8.51% 733
201 LEt2AY| 206,053 198,568 7,485
01 AFR2t2l bl 18,419 38,056 N 19,637
ORIES #+¢ 200,000& 128 2,400
OuUusEnlN € =22 H& 2,000,000& 2,000
OO0l A B AIL(S/W) 14,019
-Win AHE 32 *435,000& 1,305
- Lin AHE 20=%595,000& 11,900
- PCS 228 37,000 814
02 3524t 187,634 160,512 27,122
OCCTV & & slde= 88,0002 x113 & x12& 11,616
OCH4Y 3223 400,000& x12& 4,800
OCCTV &JIe=2 6,500 *x277 0 A% 12 21,606
oddgg SdgrA S22l
17,000, 000& *7%*1. 1 1,309
ogd g CCTV s Al&2dl 51,732
- 8@EE CCTV S A2
451,499,000 *8%x1. 1 39,732
SHHEZ CCTV &4l =&
4,000, 0003 *34] 12,000
OSE2MAEH A2l 96,571
- SEZHAAE (H/W)S X 22l
736,509,280& *8%x*1. 1 64,813
SEAMAAE(S/W)S X 22l
240,586,000& x12%*1. 1 31,758
203 ¢ R E A Y| 900 900 0
03 Al Z=XIAH R =X 900 900 0
OSE2MHEH SRF=AH| 900,000& 900
BZSAAY (ARBZ ) 148,586 29,552 119,034
Jl2& bl 148,586 29,552 119,034
o=l 148,586 29,552 119,034
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